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Sara Lapaset 

 

Tarvikkeet 
Kaksi kerää  130m/50g vahvuista villa‐ tai 
villasekoitelankaa, yksi kumpaakin väriä 
2,5mm sukkapuikot   
Apulankaa, parsinneula päättelyyn 
 
Tiheys: 20 s ja 30 krs / 10cm onteloneulosta 
pyörönä 
 
Oikean käden lapanen 
 
Luo onteloneulosta varten 42 silmukkaparia. 
Neulo pyörönä 4 kerrosta onteloneulosta. 
Jatka rannekkeen kaavion mukaisesti. Kaavio 
neulotaan kerroksella kahdesti. Toista 
kerroksia kunnes ranneke on riittävän pitkä. 
Kuvan lapasten ranneke on 6,5 cm pitkä. 
 
Jatka koko lapasen kaavion mukaan. Kun 
peukalosilmukoiden viereen on lisätty 
yhteensä 12 paria silmukoita voidaan 
peukalosilmukat siirtää apulangalle ja luoda 
kaksi uutta silmukkaparia niiden tilalle.   
 
Kaavion loputtua voi neulomista jatkaa 
kunnes etusormi jää piiloon. Kuvan lapasten 
pituus ennen kärkikavennuksia 
luontireunasta mitattuna oli  22,5 cm. 
 

Kärjen kavennukset 
 
1. kavennuskerros *neulo 2 silmukkaparia ja 
tee kavennus. Toista *stä kerroksen loppuun. 
Neulo 4 onteloneuloskerrosta. 
2. kavennuskerros *neulo 1 silmukkapari ja 
tee kavennus. Toista *stä kerroksen loppuun. 
Neulo 2 onteloneuloskerrosta. 
3. kavennuskerros *tee kavennus. Toista *stä 
kerroksen loppuun. 
Neulo vielä yksi onteloneuloskerros. 
 
Katkaise langat, pujota kärkisilmukat läpi 
langasta kahdesti ja päättele. 
 
Peukalo 
Poimi 6 silmukkaparia peukalon juuresta. 
Neulo apulangan silmukat ja peukalossa on 
yhteensä 18 silmukkaparia. 
 
Neulo 17 kerrosta peukalon kaavion mukaan.  
Tee kärkikavennus kuten 2. Kavennus­
kerroksella . Neulo 2 onteloneuloskerrosta ja 
lopuksi 3. kavennuskerros. 
 
Katkaise langat, pujota kärkisilmukat läpi 
langasta kahdesti ja päättele. 
 
Vasemman käden lapanen 
 
Oikean käden lapasen ohjeella mutta 
käyttämällä vastakkaisia värejä saadaan 
neulottua vasen lapanen. Toinen vaihtoehto 
on lukea kaaviot vasemmalta oikealle. 

 

 
 
 
 
 
 

 
 

Peukalon kaavio 
 

 villiputti



Sara lapanen 
 

Kaaviossa yksi ruutu vastaa yhtä 
silmukkaparia 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